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Step 1 : Channel 20 bbg-tdc vs bbg-adc
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Step 1 : Outlier Rejection
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Step 2 : Channel 2 bbg-tdc vs bbg-adc

Step 2 : Channel 3 bbg-tdc vs bbg-adc Step 2 : Channel 4 bbg-tdc vs bbg-adc

5 g

Step 2 : Channel 1 bbg-tdc vs bbg-adc
5
z z z z
= = 2( =" =
o o 4 ] o o 4
2 £ sp 2 2 3
o o - 0C o =3 0
2 ksl o o
a o 2p a o 2
— 0
0
0 —— - o 0
- - 0
Yl T 0 -2
-3 — o -3 0
-4 - -4
- A A 5
° 10 10° ; 10 °
bbg-adc bbg-adc
Step 2 : Channel 8 bbg-tdc vs bbg-adc
Ep
2 z z Z
= A = Sy 2
8 3 8 g 5
& & & & o
k<] ksl o Es}
o a o a 2
0
0
0
-2 0
-3
0
-4
-5
10°
bbg-adc
Step 2 : Channel 9 bbg-tdc vs bbg-adc Step 2 : Channel 12 bbg-tdc vs bbg-adc
— 5 — — — 5
2 2 2 2
o 4 oc 3} o o 4
2 3 2 ] 2 3
= <3 = =
Q ksl o Q
o 2 0 o o a 2
0 0 0
0
-2 -2
-3 o -3
—4 -4
I 5
2 3 2 3
10 10 10
bbg-adc bbg-adc
o @ @ )
& =% RN &
o o o o
° ° ° °
h hod = ho
o o o o
2 o o k<]
o Qo =] =)

o°
bbg-adc

3
bbg-adc

0 3
bbg-adc bbg-adc




Step 2 : Channel 20 bbg-tdc vs bbg-adc
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Step 2 : Outlier Rejection
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Step 3 : Outlier Rejection
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Step 4 : Outlier Rejection
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Step 5 : Outlier Rejection
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Step 6 : Channel 1 bbg-tdc vs bbg-adc
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Step 6 : Outlier Rejection
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